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Veronica's Bow Tie & All Students Try Cheating ()2019, A2

1. Ineach quadrant, enter the degree and radian measure of the hypotenue angle.
2. Bvaluate each frig function.  (See quadrant Il of the 30s.)
3. Explain the 2 title expressions.

sin(150° )=sin({ 5176 )= y

cos(150° )=cos(5T/6 )- _ The 30s
_‘.1'13;'2

sin(30° )=sin(ms )=1/2
cos(30° )=cos(T/6 )= V3/2

tan(1s0° )=tan( 51/5)=

iy 2 2 tan{30")=tan(mis )= /3/

an 1 ﬁ 4 tan(30°)=tan(me )= v3/3

sin(210° )=sin(rme)=_ A 73 39 o SN mniieG)
! g ’ _
cos(210°)=CoS{7T/6)= -3 /2 LOS( B0 FLos(t, 5.3)_‘2
ik : L

tan(210°)=tan( 777/6)= V33 tan(330")=tan(1177 )% :

i, I-'.3

sin(135° )=sin(3T/4)= /32 Sin(45° J=sin(T/4)= /212

The 45s

Cos(135° }=CoS(3T/4)=~v/2/2 €c0os(45° }=cos(Tr/4)= v2/2

tan(13s°)=tan(3m/a)= -1 4 1 tan(4&%)=tan(r/4)= 1

sin( 226°)=sin(5T/4)= -4 sin(315° )=sin(TT/4)=— /32
_\l'l 212
c05(225°)=CoS(5T/4)= —7 /2 €05(315%)=cos(TT/4)= 2 /2

tan( 2os2)=tan( 51r/4)= 1 tan(315°)=tan( 717/4 )= -1

sIn 120° )=sin(2T/3)= /3/2 The 60s sin(60° )=sin( T/3)=3/2

CoS(120° )=C0S(2T/3)= - 1/2

tan(qz¢°)=tan(2m/3)= - /3 »/5
sin( 240°)=sin(4T/3)= —/3/2
/3

C0oS(240°)=Ccos(4T/3)= - 1/2

cos(60° )=cos(T/3)=1/2

‘/g tan(gg® )=tan( T/3)= /3
" sin( 300° )=sin(5T/3)= —/3/2
/3

cos(300°)=cos(5T/3)= 1/2

tan( 240°)=tan{41r/3)= V3 tan( 300°)=tan(sm/3)= -v3
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